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Solve each equation to find the value of the variable.
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Intermediate

Two-Step Equations

1 2

4 5

 4a + 45 = – 7 43 –      = 27
3
k

+ 33 = 18
2
m

+ 9 = 6
8
w

+ 11 = 9
4
n 4 –     = –17

3
k

+ 29 = 11
3
c– 39 = – 61

2
d

38 – 9e = – 34

3

6

4z –  7 = – 83

7 8

10 11

13 14

5y –  13 = –58

5 f –  8 = 67

7 j + 3 = –39

9

12

15

4d + 4 = –14

9v +  7 = –38
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ANSWER KEY

a =  –13

– 45 – 45

——
4

——
4

z = –19k = 48

e = 8d = –44 c = –54

n = –8 k = 63f = 15

y = –9 d = –7m = –30

w = –24j = –6 v = –5

4a = –52

– 38 – 38

——
– 9

——
– 9

– 9e = –72

+ 7 + 7

——
4

——
4

4z = -76
– 43 – 43

 k– —
 3

(–3) (–3) = –16

+ 13 + 13

——
5

——
5

5y = –45

– 4 – 4

——
4

——
4

4d = –28
– 33 – 33

m—
2

(2) (2) = –15

– 3 – 3

——
7

——
7

7 j = –42
– 7 – 7

——
9

——
9

9v = – 45

– 9 – 9

w—
8

(8)  = – 3

+ 39 + 39
d—
2

(2) (2) = –22
– 29 – 29

c—
3

(3)  = –18 (3)

+ 8 + 8

——
5

——
5

5 f = 75
– 11 – 11

n—
4

(4)  = –2

– 4 – 4

 k– —
 3

(–3)  = –21 (–3)(4)

(8)


